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sh run.sh
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= it \ 3 fps—game ] F X # 3 code H iz {7 run.sh

tutorial@localhost:~/aibook/demo/robot/fps-game/code

M(F) fRER(E) ETEH(V) JEFR(S) #Ham(T) HENH)

[ tutorial@localhost "% 1s Eﬁ11
aibook A i MHE BEH T TH FF £@ =
[ tutorial@localhost 7| ¥ cd aibook/demo/robot/fps- game/code/

[ tutorial@localhost code] ¥ 1s

DFP example maps run.sh ViZDoom

[tutorial@localhost code]$ sh run, sh]m
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q$ zﬁ ammo 3687 :-"-5"-1*" iR (E) ETI V) ME(s) HImT) BE(H)

alolocalhost | §

- [ B (health) : 96.43
= 3B (frags) : 21.02
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tutorial@localhost:~/aibook/demo/robot/fps-game/code

MR HREB(E) TRE(V) ER(S) =M ®EH)

110 experiment_args[' test_objective _coeffs_temporal'] =np.array(|[0.. 0., 0., 0.5, 0.5, 1.])

111 experiment args|[' test random prob'] =0,

112 experiment _args|[' test checkpoint'] = 'checkpoints/2017 04 0% 09 13 17!

113 experiment_args|' test policy num steps'] =500

114 experiment args|'show predictions'] = False

115 experiment args|'multiplayer'| = False

116

117 by adjust this parameter to achieve the different goal

118 # three goal are ammo health frags respectively, and the larger the value is, the better the goal can be achieved
119 # for example, when setting [1.0 1.0 -1.0], the AI agent will cherish its bullets, increase its life and do not kill the monsters
120 # Note Note Note !!! that the value can not be zero, otherwise there will be error.

121 experiment args|[' test objective coeffs meas'| = np.array( [0.5, 0.5, 1.0])

122 # experiment args|['test objective coeffs meas'] np.array( [0.01, . 1.0])

123 # experiment_args|['test objective coeffs meas'] = np.array([l1.0, 1.0, )
124 # experiment_args|[' test objective coeffs meas'] =np.array([-1.0, 0,01, O,
125 # experiment args|['test objective coeffs meas'| = np.array([0.01, 1.0, 0.01])

126
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The end !



